HME2YRY [Ex H1SHA ]

St

<}

7

OFX Z= Atod|

ot

W 3R

Lt

r<13
=

7N

=2 ofefiet ol =

FAH FZ Z= AFA|

=3

14,

2024. 08.

¥| <ol

—T0° 0|

0 {iiko

-,

K0

70
4
&J

K

2) ~9.13.(F)

2024. 08. 26(

O =AP|ZH

K
il

of

K]
jifd

70l

k{0

ZAE

(@)
41

Ki-

- OftE X|

) IH| 24

=
o

i &R |

=3

- A E (Xt

| Abgofl ch2tM H

TRV

A= 2

K1

H 0| X[(119.9g.g0.kr/icheon)

=
|

S22 SEE 102 o[ufofl o]<]

i
B
Pl

ZAE @ 031-645-5345



< RfAHQUMRAL CTHY >

ol 2a OfmtEH SHAIM
o Uzt F2) g
2|RA| L BtE = R el
1 9.9. cj¥lo}ntE D 27ch (¥ 27)
23$13:30 (7= ofHA] BlAE E| - xJo} 3% ofy
Y256 : 270} (3h: 27)
oldep - FAch4
=R o) (@4 2)
2 9.9. 1x}o}n}E
- X3} 3% o]y
(H71= ol HA] npg
Zol257) D2 (g 2)
S8k 2 C]-2B3 = TAch4
3 00 HHAE ofziE 3cf (94 3)
- (H71= oAl sbg® | - xJ3} 35 ofu
$Y=230)  3h (24 3)
ey - HR|ch4
QO AER2THR] _ .
4 0 21930 s opal g | B
515 75‘—%:-EH__,E_2092E5_"—=,! - IIO]» 3?)_ O]LH
39-50) Dol (g 9)
AYsljn|ER]Y 20kx| = A o4
: 9.10. (H71= oAl Barg | ¢ doh (&4 4)
g5 t=2092% - %3} 3% o|uj
39-31 :acf (9h4 4)
- ARk
stopartel 14
6 9.10. 32 2ol nte (348,94 6)
(BT = oPdA| ofz|dz -X|&}F 3% oy
383U 33) . 140
(248, 9 6)
e 7hep = RAch4
0 21330 obzte ey (@4 2)
7 o (H7)= oA ofgldlz | - xJ8} 3% ofu
7604 19) acf (24 4)
apsnpl - ARk
_?I__OO _/]E‘I C])_ . 9_]__/}_
8 9.11. s2eojae (e ot | 46u]i (_; 46)
A ofzleizagn s0) | I 3% ol
: d6cl (9h4 46)
o A e 4
M3 o =
0.11. SBKCCAFP obh2 | oy (@4 5)
9 (H71= olHA] o dciH [
21325) - Xgt 35 ofuf
: Sef (g ©)




